ol

® 3

10 | e

™ e



A 2x +y+ (x—3y)i =3+ 2i7}

o, &

5

g x, yoll o

Al
=

2.

B!

jo

o
N
o

@ -7 ® -11

®7



3. Ay yoll st x+y+ (xy-1)i=2+ig o %4> 2] g2

D 4 ® 2 3 1 @ 0 B -1



4. 5 3x-2yi = 2+ 0] AYSHE x, yol thote] ¥ £8 Fahw?

D -2 ® -1 B 1 @ 2 B 3



52

O
=

T a+bo AL




a, b9

=11
=

=
=

a, b7} A5 W, (a+ 26)(3+4i) + 5(1 - bi) = 02 Tk

6.

V-1)

ol 2 (2

@ 2 ® 3 @ 4 ® 5

1



(14 )% +x— (2 + )7} 00] o A7} Hr =

2~
A x






= (1+i)x+1-2i°l tiste] ;20] L] A

1

2~
an

Q]
=

o,

Al
=

T x

9



JFI

v

1L

o

(1= xi)(1 - i) 7h 2557t S A4 1 o] gha Astefeh



11, A5 kol diste] a5 2 = 3(k+1) - k(1 - )* ©] Fho] 51571
o, -z o) gh& Fatelet.

e =
=%



12.

@D o070

@ 178

® 278

2= -1, (4 i)* 0] B4} H|ES Sk 4

@ 370



13.

(3 + 4i)°(15 - 20i)° = 7Fet

A 57 ® 510



tod 2 -z =2i,

(9

A gsagz o H

91

14. =45

ol

o

Ine

@ 2 3 5 @ 8 ® 13

D 1



15. (1+3i)(1-3i) - (2-i)(3+i) & AXSHH?

D 17-i @ 3+ B 3—i @ 74+ B 7-]



